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B. Sc. 3rd Semester Botany
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‘Biolagy and Diversity of Seed Plants — |
Paper: P.3.1
Time : Three Hours] o " [ Maximum Marks : 40
. Before answering -the questzons candzdates should ensure that

they have been supplied the correct and complete question paper.
No complaint in this regard will be entertained after examination.
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- Note: Attemp_t five questions in all. Ques.tlon ‘No. 1is
compulsory. Attempt fouf more questions selecting
two questions from each Unit. All quesnons carry

- equal marks.
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1. Define the followmg - . 2x4=8
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(1) Petrifaction
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" (i) Megasporophyll
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(ii) Apogamy
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. (iv) Syﬁangium
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2. Write an essay on diversity of gymnosperms. =~ 8
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‘3. Give outline of the classification pio,,poséd by Pilger
- and Melchior. Also discuss its merits and demerits. 8
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4. Write short notes on the following : e
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(a) Evolution of seed habit e : 4x2=8
(b) Types of fossils
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5. (a) Draw well labelled diagram of the following ’:
R R . 2x2=4
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(i) Reconstructed | female . garﬁetophyte of

Lygmopterzs

ﬁW##éﬁWﬂﬂﬁWﬂgﬁ@tﬁ#ﬁﬁﬁawme

(11) Reconstructed ovule of Cycadeozdea
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- (b) Describe the female frutlflcathn of Williamsonia. 4
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6. Describe the process of reproduction in Pinus. 8

'7.  (i) With the helﬁ of labelled diagrams, compare tlie'i :

anatdmy of stem and root of Cycas S 4
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(ii) Give the economic nnportance of Pinus. 4
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8. -Describe the male and female gametophyte of Ephedra

Draw labe]led dlagrams a]so . f 8
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9. Give unportant’ features of the ‘fpkllowing orders: =
| | - 4x 2-8
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(i) | Magnohaleé
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